Fourier Pairsfor ECE 315 Test 9 FO4

(5/2)rect(t /2) Ocomb(t) 1 5sinc(2f )comb(f) =5 " _sinc(2k)3(f - k)
85(3(t+1))-85(3(t -1)) - O j (16/3)sm(2m‘)

8comb(3t —1) — 1 (8/ 3)comb( f / 3)e 12"/

8comb(3(t 1)) 1 (8/3)comb(f / 3)e > =8 " e ™S(f - 3)

85(3t -1) +85(3t +1) — - (16/ 3)cos(2 7 / 3)

85((t-1)/3)+85((t —1)/3) = 485(t —1) (1 48e71*™

(512)rect(t) Ocomb((t- 1)/ 2) - Ssinc( f)comb(2f )e ™
8comb((t/3)-1) — FI-. 24comb(3f)e ™

(5/2)rect((t - 1)/ 2) Ocomb(t) - 5sinc(2f)e*™ comb(f) =5 | _sinc(2k)e **5(f - k)
85((t/3)-1)-85((t/3)+1) O 24(e7*™ ") = -j48sin(67f)
8comb((t ~1)/3) 1 24comb(3f)e > =8% " e 1?*5(f - k/3)
5rect(t) O(1/ 2) comb(t / 2) B 5sinc( ) comb(2f)



